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Number Series Questions for SBI Clerk Pre, IBPS Clerk Pre, RBI 

Asst. Pre, LIC Asst. Pre and IBPS RRB Exams. 
Number series Quiz 59 

Directions  : What will come in place of question mark (?) in the following series? 

1.  4     2     3     7.5       ?       118.125 

A. 26.25  B. 38.75  C. 42.15  D. 52.85  E. None of these 
 

2.   256     252     279     263       388       ? 

A. 344   B. 352   C. 366   D. 324   E. None of these 

 

3.  1336     1738     2212     2764       3400       ? 

A. 3638  B. 3832  C. 4126  D. 4244  E. None of these 

 

4.  33600     4200     600     100       ?       5 

A. 42   B. 56   C. 60   D. 20   E. None of these 
 

5.  101     154     213     274       341       412      ? 

A. 436   B. 424   C. 444   D. 468   E. None of these 

 

6.  12     33     128     635       ?       26621 

A. 3804  B. 3216  C. 4024  D. 3675  E. None of these 

 

7.  12     13     9     36       20       ? 

A. 86   B. 79   C. 145   D. 123   E. None of these 

 

8.  638     514     452     421       ?       397.75 

A. 416   B. 399.5  C. 409   D. 405.5  E. None of these 

 

9.  18480     1680     240     48       16       ? 

A. 11   B. 8   C. 13   D. 15   E. None of these 
 

10. 53     65     41     77       29       ? 

A. 77   B. 89   C. 59   D. 68   E. None of these 

 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A B C D E A C D B A 

 

Explanations:  
 

1.    
Series Pattern  Given Series   

4 4   
4 × 0.5 = 2 2   
2 × 1.5 = 3 3   

3 × 2.5 = 7.5 7.5   

7.5 × 3.5 = 26.25 26.25 ✓ 
26.25 × 4.5 = 118.125 118.125   

 
Hence, option (A) is correct. 

 
 

2.     
Series Pattern  Given Series   

2 2   
2 × 2 4   
4 × 3 12   

12 × 5 60   

60 × 7 420   
420 × 11 4620 ✓ 

 
Hence, option (B) is correct. 

 
 

3.   
Series Pattern  Given Series   
113 + 5 = 1336 1336   

123 + 10 = 1738 1738   
133 + 15 = 2212 2212   
143 + 20 = 2764 2764   

153 + 25 = 3400 3400   
163 + 30 = 4126 4126 ✓ 

 
Hence, option (C) is correct. 
 

 
 



 

 

4.   
Series Pattern  Given Series   

33600 33600   
33600 ÷ 8 = 4200 4200   

4200 ÷ 7 = 600 600   
600 ÷ 6 = 100 100   

100 ÷ 5 = 20 20 ✓ 
20 ÷ 4 = 5 5   

 
Hence, option (D) is correct. 
 
 

5.    
Series Pattern  Given Series   

101 101   
101 + 53 = 154 154   
154 + 59 = 213 213   
213 + 61 = 274 274   

274 + 67 = 341 341   
341 + 71 = 412 412   

412 + 73 = 485 485 ✓ 
 
Hence, option (E) is correct. 

 
 

6.    
Series Pattern  Given Series   

12 12   
12 × 3 – 3 = 33 33   

33 × 4 – 4 = 128 128   
128 × 5 – 5 = 635 635   

635 × 6 – 6 = 3804 3804 ✓ 
3804 × 7 – 7 = 26621 26621   

 
Hence, option (A) is correct. 
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07.  

Series Pattern  Given Series   
12 12   

12 + 13 = 13 13   
13 – 22 = 9 9   
9 + 33 = 36 36   

36 – 42 = 20 20   

20 + 53 = 145 145 ✓ 

 
Hence, option (C) is correct. 
 
 

8.  
Series Pattern  Given Series   

638 638   
638 – 124 = 514 514   
514 – 62 = 452 452   
452 – 31 = 421 421   

421 – 15.5 = 405.5 405.5 ✓ 
405.5 – 7.75 = 397.75 397.75   

 
Hence, option (D) is correct. 
 

 

9.  
Series Pattern  Given Series   

18480 18480   
18480 ÷ 11 = 1680 1680   

1680 ÷ 7 = 240 240   
240 ÷ 5 = 48 48   

48 ÷ 3 = 16 16   

16 ÷ 2 = 8 8 ✓ 

 
Hence, option (B) is correct. 
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10.  

Series Pattern  Given Series   
53 53   

53 + 12 = 65 65   
65 – 24 = 41 41   
41 + 36 = 77 77   

77 – 48 = 29 29   

29 + 60 = 89 89 ✓ 

 
Hence, option (B) is correct. 
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